coNO VT WNEBE

: int input;

: int inputType;
: int stack[50];
: int sp=0;

. int
4

2 //

: #include <stdio.h>
: #include <stdlib.h>

: /* run this program using the console pauser
: int getOp(void);

: void putInStack(char op[]);
: void add(void);

main(int argc, char *argv[]) {

int input;

printf("RPN Calc statred\n");

inputType=getOp();

while( (inputType=getOp())!=EOF){
switch(inputType){

case 1:
putInStack(atoi(input));
break;

case '+':
add();
break;

case '=':
printf("result = %d\n",pop());
break;

case '\n':
printf("new line\n");
break;

default:
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printf("invalid command\n");

break;
}
//  inputType=getOp();
}
return 0;

int getOp(){
printf("getOp executed\n");
input[@] = getchar();
if(isdigit(input))
return 1;
else
return input[o];

}

void putInStack(int op){
printf("putInStack executed\n");
push(op);

}

void push(int op){
stack[sp++]=0p;
printf("push %d\n",op);

//  Sp++;

}

int pop(void){
//  sp--;

return stack[--sp];
}

void add(){
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//
//
//
//

printf("add executed\n");
int opl, op2;

opl=pop();

op2=pop();

push(opl+op2);
push(pop()+pop());



